SHSFE BREBI/NEIESEFR /\R=2 AP E#HEtE (3 4 AFtE)
B 0 H B 0 H HE 0 H
wa 15 = w3 10 = w3 11 H
H&EH 16 =] H&EH 20 H H&EH 20 H
18 2H 38
SEENETIE SEENETE SHENETE
BlE| ZRITSH BRF RS a3 HE 2| ZRI7E B EE] BiN=) IE| ZRI7S B wE Biv=)
BRA | B4 | A | B4+ BA | B4 | A | B4+ BRA | B4 | A | B4+
1l B ~ X 16:30| ~[18:30] O & |ZER ~
bl DG ~ & |Temmen=x~ T ~
3] K ~ * = ~
4] K ~ = 2 )= 16:30| ~|18:30| O
5| & ~ )= ~ N 16:30| ~[18:30 O
6] & ~ N |HEBA ~ 7K ~
718 ~ 7K ~ X 16:30] ~ [18:301 O
8] A |k ADH = KI|ZERER ~ & 16:30| ~[18:30 O
o) X 1A% ~ & |FFERER ~ + 12:30| ~ [16:00f O
10} & ~ +* ~ = ~
111 K 16:30| ~[18:301 O B |ZEE=0H A~ )= 16:30] ~ [18:30| O
121 & 16:30| ~[18:30 O A |I=RE&RE R PN 16:30| ~[18:30 O
13| £ 12:30| ~[16:00f O N|ZEXREBE ~ 7K ~
141 H ~ KI|ZEXRER ~ VN 16:30] ~ [18:30| O
15) B 284 E&F*1T|16:30| ~ |18:30] O X 16:30| ~[18:301 O £ 16:30| ~[18:30 O
16] N |24 EFFriT|16:30( ~ [18:30 O £ 16:30| ~[18:30 @) * 12:30| ~ @)
17) 7K |25 A EF /AT ~ T 12:30| ~ (16:00f O B ~
18] K |25 4EFhriT|16:30| ~ |18:30] O B |w=sseiEss ~ A 16:30] ~[18:30| O
19] & | 284185 H*1T|16:30| ~ [18:30 O A 16:30| ~[18:301 O XN METR ~
201 & 12:30| ~[16:00f O PN 16:30| ~[18:30 @) K |EDDH s
21| 8 ~ 7K ~ K |BERHERBRE ~
221 B 16:30| ~18:301 O N 16:30| ~[18:301 O £ |BERHEERE ~
23 X 16:30| ~ [18:30 O & | REREH ~ I | BARHEBRE ~
24] K [HFeibEir A ~ T 12:30| ~ [16:00f O B ~
25 & 16:30| ~ (18:30f O H ~ B |BRHEZERE ~
26| & |3EEFEREE(16:30] ~ |18:30 O =] 16:30| ~[18:30f O N |BARHEBRTE ~
271 & 12:30| ~[16:00f O N 16:30| ~[18:30 O K | BRHHEBERE ~
28| B ~ K |RiGEER ~ K |BRHEBRE ~
29| B |3E&EFEXRER|16:30 ~|18:30| O K |ZERFIT ~ £ | BRHEBERE ~
30 N |3EEFFEREE|[16:30] ~ |18:30 O ~ T |BRHEBRTE A
31) K |3EEREREE ~ ~ = ~
==




